В7вычисление значений тригон. Выражений
	Тип
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Аналогичные задания: 26953 64211 
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	Условие

	B7
	[image: image2.png]26776. Hatigure tgo., ecmm sino=





Аналогичные задания: 64275 64277 64279 64341 64343 64345


	Тип
	Условие

	B7
	[image: image3.png]26777. Hatigare 3cos., ecmn sin o=




Аналогичные задания: 26955 64347 64349 
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	B7
	[image: image4.png]26778, Hatizare Ssince, eci cosol lsﬁ M ae(?ln)




Аналогичные задания: 64383 64385 64387 
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	[image: image5.png]26779. Hafgute 24coslo, ecnd sino=—0.2




Аналогичные задания: 26957 64419 64421 


	Тип
	Условие

	B7
	[image: image6.png]. ecan sin3a=0,6.




Аналогичные задания: 64461 64463 64465 64467 
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	[image: image7.png]'26783. HafiguTe 3Ha49eHHE BRIpaAXeHHT dStg(Sn—v)—tg(—v). ecau tgv





Аналогичные задания: 26961 64695 64697  64765 64767
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	B7
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Аналогичные задания: 64769 64771 64773 
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	Условие

	B7
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Аналогичные задания: 26963 64897 64899 
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	B7
	[image: image10.png]



Аналогичные задания: 65025 65027 65029 65031 
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	Условие

	B7
	[image: image11.png]26787. Haiigure tg’ o, ecnm Ssin“o+13cos  ou=6




Аналогичные задания: 26965 65161 65163 
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	B7
	[image: image12.png]26788, Hatizure

3cosa—dsino
P —

. ecan tga=3




Аналогичные задания: 65223 65225 65227 65229 
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	B7
	[image: image13.png]10cosa+4ana~+15

26789. Hattzare. ecm tgo=

Neino <S5 coso <+ 3




Аналогичные задания: 26967 65271 65273 65275 65277 65279 65281 65283 65285 
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	B7
	[image: image14.png]Tsmno+13cosa

26790. Hafizae tgo, ecmm o -
Seno—1Tcosa




Аналогичные задания: 65319 65321 65323 65325 
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	Условие

	B7
	[image: image15.png]dsma—dcosa+s 1
26791 Hatizure tgor, ecan o o212
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Аналогичные задания: 26969 65365 65367 65369 
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	Условие

	B7
	[image: image16.png]26792. HafiuTe SHa%eRHe BLPAKSHHT 1oqs(mp)—zsin(%‘+ p), ecnm cosp=—




Аналогичные задания: 65425 65427 65429 65431 
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	Условие

	B7
	[image: image17.png]26793. Hafizue ssaterme Bupaxesns Ssir(afhr)fllms(

3n

<o, ecam sino=-0.25





Аналогичные задания: 26971 65489 65491 65493 
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	Условие

	B7
	[image: image18.png]26794. Hattaure 9cos 2o, ecTn cosc=




Аналогичные задания: 65553 65555 65557 65593 


